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For the record: ETAC and the Cou.’p\es

ETAC learrned 4he @llcwinﬁ jbro)blem 'F?’-"‘“ :)LQ
van de gne]:sclﬂeu“- Cuwho Pmb&b}%j heard it rom

Hisrc\). O{jo Qn-'!re num'oer‘ Cou.})\es e afe
lold dhe Fi:”owirzj two things

()Y Yhe ddest man is as old as the oldes}t woman
(f.‘) E-f -\—wo Coulales §wa]'> w‘wes, -Hoe &Our‘\ es%‘ o()
the one new COu.F\e is as young as dhe

30»125354- of the other new Cou);]%.
Showo -n'?a}- in ch_k Cou.]D\e s, Man ond woman have

'H'le sSome 059.

The ETAC came with the gno\»ir:j solution .
Let  dummies X,y foange over Yoe COu]')leS', let

e C:Ses o() ”Imah an-d LWoOMan c{) Coul’)le X

be denoted b:j m.x and Cx res]Deche!:j.
Our Fmo(p ob\‘ga-}‘.on is -”neh

(o) (EX:: m.xzfx) s
While we hove been given
) (T:j:: mj) = (Tj -Pj) and

‘ (‘2) (BX’S:: MXL«FD = {)XL MJ)

Noke that (ii) shakes (2) with the ronge Xx#y,
but thet +he range con be extended +o include

X:n .

We observe —F:)w o.r:j .
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m.Xx = {?X

{T\L Qolcf...luszi_jpisp‘rq and acb = C;:q\\«bk

1

- { (O
M.X\l,(’[\ I ) = X‘LCT iim')
= {1 22\ cft?s: \” cl‘i}'ribu}fQ uuerj'r_zl
(T&:: m.xir.j) = (T(cj:: VX\L M-ﬁ)
= {CQ)}
rue

J

and Yhus (0) has been Fmvecl.

The {)irs‘\” swLe,P is _ﬁ_c_a_!' surprisinjz in order Yo
use (1) and (), P and V have o be inhro-
duced into dhe calculabon,
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